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Created by David Millar
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Instructions

In each 9x9 sudoku grid, fill 
each row, column, shaded 
diagonal, and 3x3 square 
with one of each digit from 
1 to 9 with no repeats.

In addition to a selection of 
given digits, each circle 
must contain the sum of 
the two digits along its 
arrow. A digit may repeat 
along an arrow so long as it 
does not violate standard 
sudoku rules.

http://thegriddle.net • http://twitter.com/thegriddle

World-Class

The bottom two puzzles on 
this sheet were used this 
year in the World Sudoku 
Championship, with the 
left-hand puzzle being used 
in the instructions and 
example booklet and the 
right-hand puzzle being 
used in the championship 
itself. Are you up for a 
world-class challenge?
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